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2. 10 points] Prove that
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3. [10 points - 5 | .
eaCh] True or | ,
showing that the statement eon il:efali True, give a proof. If False, give a specific example !
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(b) If (a,) is a bounded sequence of real numbers, then (a,) converges.
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4. 10 points| PICK ONE. If you do both, then I will grade A.

A. Let (

is bounded.
ay) be a convergent sequence of real numbers. Prove that (a,) is
(On thi

. mi ve the result.)
§ problem, you are only allowed to use the definition of limit to pro

t lim a, = A and
B. Suppose that (an) and (b,) are sequences of real numl?ers such bthc”i s "
lim b, = B where A and B are real numbers. Prove that limy,—00 AnOn
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(On this problem, you can use the definition of limit, and results about
quences to prove the result.)
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5. [10 points
L

i ded from below.
] Let S a non-empty subset of the real numbers that is boun
et ¢ be a real number. Define the set

S.={z+c|z€S}

Prove that inf(S,) = inf(S) +c. |
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5. [10 points]

. from below.
Let S a lon-empty subset of the real numbers that is bounded fro
Let ¢ be a real

number. Define the set

Se={z+c|z €S}

Prove that inf (Se) = inf(S) + c.
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